
Beyond	Dalitz	plots	II				

Stephen	Lars	Olsen		

D*+	

π+	

D0	

θ”	

θ’	π0	

φ”-φ’	



Last	6me:		e+e-	!	J/ψ	!	ρπ;		ρ	!	ππ	
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Today:	D1(2420)!D*π;	D*!Dπ					
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	1
+ →1−0− ;	1− →0−0−

1+	instead	of	1-	-	



What	is	the	D1(2420)?	
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M	=	2421±1	MeV	
Γ	=		32	±	3	MeV	
JP=1+	

--	the	low-mass	D	meson	spectrum	--	
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D1(2420)!D*π	in	the	helicity	basis	
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Let’s	do	mD1=+1		



Parity	is	conserved	in	D1!D*π		

		

B10 = (+1)D1(−1)D*(−1)π (−1)
1−1−0B−10
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--	2	independent	amplitudes	--	
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--	2	independent	amplitudes	--	
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incoherent	
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--	2	independent	amplitudes	--	

different	D*	
helicity	states	
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D1→D*+	π
											→D	π
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		B−10 = B10;	B00 ≠0
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